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Instructions to the candidate :

1. TRt quTEveE A0 TR H A IR S
Candidates are required to give their answers in
their own words as far as practicable.

2. ol AR ofd w &2 U oiw quiw Fafee
Y

Figures in the right hand margin indicate full
marks:

3. i ue sfEE #
All questions are compulsory.

4. IFT ;W _UG YT WE-WHT T
& & |

While answering the candidate should adhere to
the word limit as far as practicable.

5. TH UYAUR &® GgA & w15 fume & Hfaitw
wwa foar T

15 minutes of extra time have been allotted for
the candidates to read the questions.
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MATHEMATICS 2
et 3 I ¢ |
Choose the correct option .

1. %{2,3;@(-2,3;%%#@%
(% 3 @ 4
m J3 (a) 5. 1
Distance between the points ( 2, 3 ) and
(-2, 3 ) will be
(@) 3 (b) 4
€ 3 d) 5.

2. 4% UM W g(x)=x"-x+4 F LTI
H,ﬁﬁ,ﬁﬁa+ﬂﬁmﬁm

(%) -1 (@) 4

(M 1 (=) 0. 1
T a and(p are the zeros of quadratic

polyriomial g(x)= x? - x+4, then the value

of @+ will be

() -1 (b) 4

g;]qﬁl@ﬁ EEETC| [d}ﬁ'—foamﬁ" 3 ¥
4 : 9

Eroaran &1 Sur g !

(F) 3:4 (@ 2:3

(m 5:3 ) Fﬂ@a‘ﬁéﬁlﬁ; .

/4, sec
"\

mTHEMATIGS

sl. COdcr: 3

s of two circles is 4 : 9,
r radii will be

(b) 2: 3

(d) none of these.

If the ratio of arcas
then the ratio of thel

(a) 3:4
(c) 5:3
24_1 % A&

. 2
() cosec20 (@) sin”9
a (&) cot?@.

&/tanzﬁ

sec20-1 is equal to .

(a) cosec>0 (b) sin®®
2

(CJ 1_3112 3] [d] cot 0.

5 aﬁfumﬁ,aadaa-rma’m

—

B 3d + 50°
2d + 20°
m
“_(5)/22“ (@) 30°
(m 45° (a) 80° 1
2 [ Tum over
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- MATHEMATICS 4 Sl. Code : {813

If I || m, then the value of d will be

/ |

3d + 50°
2d + 20°
/ Im
(&) 22° (b) 30°
(c) 45° (d) 80°

6. TAX EFE S @, a9 P(E)+P(E") & T g1

r\-'/ (=) 2 ' 1
(-1 (@) TEAFEETE 1

If E is an “event, then the value of
P(E)+P(E') will be

(@ 2 (b) 1
) -1 (d) none of these.
2./ 3,4,7,2,7,6,7, 9 F T &
) 2 @) 3
7 (") 9. 1
The mode of 3, 4, 7,2, 7,6, 7,9 will be
(a 2 (b) 3
(¢ 7 (d) 9.

(2] BiharboardQuestionpaper.com

Sl Code - m
- S MATHEMATICS

8. ma.p.%mwzﬁwmm 3 &, a§
v’ A.P. & A9 uT &
(F) 2,6,9 (@2 5 5
(M 2,6, 10 (M 2,5 9. 1

Whm} first term is 2 and common difference
1S 3 in an A.P., then three lerms of the A.P,

will be
al - 2,6,9 (b) 2,5,8
() 2,6,10 (d) 2,50

w9, Sin%—cos—z—ﬂm:[fpﬁ

(&) 2 M

(M -1 = 1. 1

The value of sinﬁ- - cns—g will be

{a) 2 (b) O
() -1 (d) 1.
A 0. I 0 = e w1 e g
9
@ et @ o
0
(TT) 270 X ﬂrz ("EI) 460 xﬂrz ) 1

2 | Turn over
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Area of sector of angle 0 will be

0 3 8
(a) 570%™ (b) T

B 2 0 2
(c) Yol (d) 360 <™

11 g g A (3, -4) R oo BN

Distance of P ( 3, = 4 ) from the origin will

DE i,

12)AP. 2,58 11, & Q& T coocrnwln
il ©
9th tersn of an A.P. 2, 5, 8, 11,

. FAT T AT 4

13. &1 foe = 5 : 1
Class Hiark = 2PPET 11m1t2+ ...............

14, Tt gu & 9@ fog 9 g9 W @ren T oy dEn
............... Bt € 1

The tangents drawn from any external point
on the given circle are .

15. & gl & HIHA 14 : géaaxgqmﬁ%tm
ot &1 SUE ... R 1

SL. Code : [813 7

8.’

A9.

20.

MATHEMATICS

If the ratioc of areas of two circles is
:1 : 9, then the ratio of their radii will
e

trFqJ_tane 1, ?ﬁe~ e 1

Ifftane-a thene-

--------------------

o W BE, w02 4p? = ’-+-£Cfﬁ-f,89-—

..............

i o and B are _the roots)" of

quadratic equation ex?-bx+a=0, then

L 1
}14
If20== 3 then sinB=_...... ’8 .......
A g0 d @ fag (4, -5 ) % W% W 9m
T2 BT 1

The value of the ordinate of a point

L 4, -5 ) situated in Cartesian plane will
€ i,

WWW‘@ 10, 16, 22, 28 F /e 3T
B wm I

The common difference of an A.P. 4, 10, 16,
22, 28 will be ..

2 [ Turn over
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9 MATHEMATICS

813

24, UF §9EE Y ABC @t Y 2q ¢! ITF M

I 1T hilag | 2
The side of equilateral triangle ABC is 2a.
Find the perpendicular distance from

vertex.

w fag 0 9 W gH W W 1@ & aEE
24 QA T Q I Fw ¥ gL 25 9O &, g7 Bl
Prear 1 &K | 2
From a point Q the length of tangent to a

circle is 24 cm and distance of Q from
centre is 25 c¢m. Find the radius of the

circle.
frgaft( 0, 0 ) 3 (36, 15 ) F & w1 [ TH
| 2
Find the distance between points ( 0, O )
and { 36, 15 ).

Jo ST A FE WY, AR K A(2,3), B(4, k)

AT C (6, -3 ) §@ &1 2

I points A(2,3), B(4, k)and C{6,-3)
are collincar, then find the value of k.

2 [ Tyrn over

MATHEMATICS 10 ‘81, Code :|813
% gH & wEie &1 EEhe [ ¢ feraent ity
2

P

29

30.

31
\,/'
\/32.

. A.P.21, 18,15, ..

22 g4t &

Find the area of quadrant-of a circle whose
circumference is 22 cm.

wﬂﬁwmﬁwalwﬁWozﬁ

maﬁﬁﬁﬂmwmdﬁﬁmws 7T
2

F
The diameter of a sphere is 6 cm. By
melting it a wire of diameter 02 cm is

made. Find the length of wire.
7% sin 3A = cos(A~26°), FE 3A UTF I
2

& A A SLHH T
H‘- siff3A = cos(A -26°), where 3A is an
acute angle, find the value of A.

LFHF-W 81T 2?2
Which term of an A.P. 21, 18, 15, ... is=817?
fag &t ff 3+ 5 0% aRHE TET &) 3

Prove that 3 + Jg is an irrational number.
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11 MATHEMATICS

sl. Code : |813 MATHEMATICS

a3 shreE e @ F Y@ wEEe gE
T H
3x-5y =203 x+2y=3. 3
Solve the following pair of linear equations
by substitution method : 3 em
3x-5y=20and x+2y=3. ‘
34. Qﬁ%ﬂﬁaa@amﬁmmﬁaﬁﬁﬁsﬁﬁ
¥ A\ TS R AT 4 TH 1€ » 3 . )
. i equation,  ~whose 37. o A _ _ |
Find - the  a ol sor 7. 38 §Y = Fewie w@ w s fergatt (<1, 7)

d
sum and product of zeros are 4 an * \
1 respectively. a9 (4, =3 ) i Trem i 3 & o .

12 5l. Code :

Find LE in the given figure where LM || FG

54 cem

FI A T § 1 I TG B 3 . | 3
The di]%f:jrence of two numbers is 26 and find the coordinate of that point, which

divides the.line joining the points =1, 7)

one number is three times of other. Find the |
and ( 4,<3') in the ratio 2 : 3.

numbers.
36. & 7% s ¥ LE ¥ @ Sl LM || FG. 3 -38.Wmﬁﬁﬂaﬁwﬂ$3%w$ﬁﬁ
£ iRl FTE Wit | 3
1-8 gHI Find the probability of getting a number
L M greater than digit 3 in the throw of a dice.
7-2 Tl 39. 9% cotg =L & @ (1+sin0)(1-sin0)
/ \4@1& 8 ' (l+cos0)(I<cosd]
P G a1 FHeTet | 3
2 [ Turn over 2
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SL Code : {B13 13 MATHEMATICS
7
If cmt8=§, then find the value of
O +sin0)(1-5ing)
[1+cus{3][1-cusﬁ}'
40 Tog =y & Cot0—-cosh _ cosecd -1
cotd+cos@  cosecO+1° 3

Prove that S0t0—~cos@ _ cosecf-1
cot0+cos® coseclB+ 1

41, & 7 siwel = vy 18 &, &l 38 SRl 59
G

3
T — 11-13 | 13-15 [ 15-17
Toal HICHET 7 6 9
17-19 | 1921 | 2123 | 2325
13 T 5 3

The mean of given data is 18. Then find the
missing frequency :

Class interval 11-13 | 13-15 | 15-17
No. of children 7 6 9
17-19 19-21 21-23 | 23-25
i3 f 5 4
E. | Turn over
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42.

43.

44,

45

e

14 Bl. Code :. B13

i T afens = mitee 12 UE 9o 18 ¥, o
3RS 1 TeE T |

3
If median is 12 and mode is 18 of any data,

then find mean of the given data.
B 4 o O o 9m & Breweve w1 aewe
T H, S @ 300 ¥ &, wre A
FISEue &1 8E6e W 71 iy | 5
Find the area of sector having 4 cm tadius

and 30° angle at the centre of given circle:
Also find the area of corresponding major

~ sector.

X+2Y =4 =0T 2x + 4y -12 = Q,

Solve by graphical method :
x+2y -4 =0and 2x+ 4y -12 = 0.

. T FEU 'Y a0 T 50 Hiex S dR

TE E dfee 7 W R ¥ R & o
Y W a e f & dmas i s
30° |1 45° §, A ST @ F HE T w5
| Jreran
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@W%Wﬁﬁﬁ@ﬂﬁ?%ﬁﬂ@?ﬁfr

39T F/Y 30"%@?%%%&3’#%%

RTER 1 3997 101 60° 3| 3R P 50 Ht St
&, @ o A TR w9 =55

A vertical flag rod and a 50 m high tower
are situated at same horizontal ground: The
angles of depression of the top of the tower

from top and foot of the flag rod are 30° and
45° respectively. Find the height of the flag
rod. -

OR
The angle of elevation of the top of building
from the foot of a tower is 30° and the angle -
of elevation of the top of tower from the foot

of building is 60°. If the height of tower is
50 m, then find the height of the building,

T P = O O % R @ e T
7 T el wt o ) e W wfaede et 1,
d forg oemetl w 9mE wae e s ¥

fag =0 5

MATHEMATICS

16 Sl. Code :
'MATHEMATICS

47.

E]_ BihquB’a_P&Quéstionpuper.com 2]

to one
In a triangle, a line drawn para}EEL o one
, de
side to intersect the other two Slides n e
distinct points, divides the two S
same ratio. Prove it.

S@ﬁﬁﬁwmﬁiﬁ@ﬁ'mmw

5
W’éﬁ'ﬁi’:ﬂ‘ml .

Frear .
5@@%@@%%% e
i < B = e 1 e

i struct
Construct a circle of 3 cm radms.cgglrﬁl
an equilateral triangle inside the :

OR

a ] - - - Kl l

triangle.  Repadd e e gEE sifkiaas
' dAgre Uue, ATee Uue, 3ide-6l,
UTSIehd, siied, Al &e, Ae-3m 3T
A udtenn vsst u= 3fe & f3e...
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